
Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.22 Main Catalogue
E  10/2012

Plug-in units – for CompactPCI, VME64x

Order Information

Individual 
components inserter/extractor handles, type IEL/IET, fixing material

3 U 6 U

top

bottom

04609050 04609051

Fixing material Item Required quantity Qty/PU Part no.
3 U 3 U 6 U

< 8 HP ≥ 8 HP < 8 HP ≥ 8 HP

Printed board bracket
Zn die-cast

1 1 1 – – 1 piece 
(SPG 10)1) 60807-181

06707050

Pozidrive panhead screw
M2.5 × 6, St, nickel-plated , not for 0.1" offset 3 2 2 2 2 100 21101-219

AZA45177

Slotted panhead screw with Torx 8
M2.5 × 6, St, zinc-plated, self-securing thread
not for 0.1" offset

3a 2 2 2 2 100 24560-159

aza45940

Washer
2.7, DIN 125, St, nickel-plated

4 2 2 2 2 100 21100-721

AZA46586

Raised Pozidrive countersunk panhead screw
M2.5 × 8, St, nickel-plated 5 1 1 – – 100 21100-429

06702056

Raised countersunk panhead screw with Torx 8
M2.5 × 8, St, nickel-plated 5a 1 1 – – 100 24560-164

06708050

Pozidrive/slotted collar screw 
M2.5 × 12.3, St, nickel-plated 6 1 3 – 2 100 21101-101

AZA46586 AZA46586

Plastic sleeve, for form hole 5.9 x 3.3
PA, UL 90 V-2, grey

7 1 3 – 2 100 21100-464

aza45933

Metal sleeve, for form hole 5.9 x 3.3, press-in
Stainless steal

7a 1 3 – 2 100 21100-662

aza45933

Pozidrive panhead screw
for IEL/IET handle with 0.1" offset
M2.5 × 10, nickel-plated steel

8 2 2 2 2 100 21101-220

AZA45177

Torx panhead screw
M2.5 × 7, St, nickel-plated, Torx 8, 9 1 1 2 2 100 24560-147

aza45940

1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple

4

3 / 3a / 8

1

5 / 5a

6

6

7 / 7a

4

3 / 3a / 8

9

4

4

3 / 3a / 8

6

3 / 3a / 8

6

9

9

7_2_steckbaugruppen_e.fm  Seite 22  Mittwoch, 19. September 2012  1:05 13




